RETAN FHR DR/IEEE 01

1. ROBOINEE L. FEREASSZHGTEE. (S35, AMs50%, Bf15208, C#24)

1 V3, V2 (2) 6, V35
(3)  2v2, V10 (4)  3V11, 7V2
(B V3, -5 (6) —4v5, —/82

2.  ROBOINEEE K. FEREAEZ2HCTEE. (S35, Afks50%, Bi#k17208, Cik2)

(1) 4, 3v2, V17 (2) 0, —v0.9, —1
(3) 10v2, V201, 14 (4) —5v/3, —3v/5, —8
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3.  ROBDOINHEER L. FERIIAGES 2 WTEE. (S35, AR50, B#15208, C#25)

(1 V5, V6 (2) 8, V65
(3)  2v3, V10 (4)  3v6, 2V/14
(B) VT, =22 6)  —5v5, —2¢/31

4. ROBDOINHEER X BERIAESZHGTEE. (S35, AR50, Bfk15208, C#24)

(1) 3, 2v2, V10 (2) 0, —V1.1, -1
(3) 7v2, 3V11, 10 (4) —2v3, —=3v2, —4
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RETALN FHR o/ OB 01 FREE®E

1. ROBOKNHIEES L. R ASESZHWTERE. (S35, A0, Bft15208, C#29)

*x v/ ODOKMNE A=+vVA2, AVB =+A2 x B £EUTKNLET 3.

1 V3, V2 (2 6, V35
V3> 2 6 =136
6 > 35
(3)  2v2, V10 (4) 311, V2
2v/2 =+/8 3v11 =32 x 11 = /99
V2 =VT2%x2=+98
22 < V10
3vV11 > 72
5) =3, =5 (6)  —4v5, —/32
HOOHE D KN, HOHE D KN,
V3 <5 45 =+/80 &1,
45 < /82
ARE5 2 WiR L C,
—V3> -5 & % 3R L
—4v/5 > —/82

2. ROBDOKNHIEEE X FERRIASES2ZHOTRE. (S35, AR50, Bit1208, C#2%9)

(1) 4, 3v2, V17 (2) 0, —v0.9, -1
4=+/16 HaRHIE D RN,
3v2 < /18 0<+v09<+V1
4< V1T < 3V2 RES 2 Wi LT,
0>—-v0.9>-1
1< —v/0.9<0
(3) 10v2, V201, 14 (4) —5v3, =35, -8
10v/2 = /200 5v3 =75
14 = /196 3v5 = V45
82 = /64
14 < 10v/2 < /201 i D KN,
3v5 <8< 5V3
AT 7% WiR LT,
—-3V/5>-8>-5V3
—5v3 < —8< —3V5
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3.  ROBDOINHEER L. FERIIAGES 2 WTEE. (S35, AR50, B#15208, C#25)

(1 V5, V6 (2) 8, V65
V5 < V6 8 =64
8 < 65
(3)  2v3, V10 (4)  3v6, 2V14
2v/3 =12 3v6 = /54
2v/14 = /56
2v/3 > V10
3v6 < 24/14
(BG) =T, =22 (6) =55, —2¢/31
Mo iE DKM, i o KN,
2V/2=+8 &1, 5v/5 =125
VT < 2v2 231 =124 kb,
5v5 > 2v/31
ARE5 2 WiR L ¢,
—VT > —2V2 REEE s LT,
—5v5 < —2v/31

4. ROBDOKRNEER L. BREIAEEZHOTERE. (S35, A0, Bfk17520%, C#k24)

(1) 3, 2v/2, V10 (2) 0, —V1.1, -1
3=1+9 NS SO NANES
2/2 =+/8 0<1<+V11
2v/2 < 3 < V10 REE iR LT
0>—-1>—-v1.1
—V/11<-1<0
(3) 7v2, 3V11, 10 (4) —2v3, —=3v2, -4
V2 =98 2v/3 = /12
3v/11 = /99 3v2 =18
10 = /100 42 = /16
NSO NANES
7v2 < 3v/11 < 10 2v/3 <4< 3V2
SR WE LT,
—2v3 > —4> 32
—3v2 < —4< —2v3
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